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10 DEFDBL S, K, X
0 FRINT CHR$(24)
20 PRINT : PRINT :
40 FPRINT TAE(Z5); "# 85t 445 444 5 6 R B R B RS 520
S0 PRINT TAE(ZS); "= el
L0 FRINT TAR(ZS); "## KLIRTOSIE H#3
70 PRINT TAEB(25); "## gt
E0OFRINT TAR(Z5) ) "S5 Mt S # AR A AR SR AR R F RT3
25 PRINT : PRINT

LO0O OFEN "IM, #1,FILES

P10 DIM X(SUEJECT), SX(SUBJECT), SXX(SUBJECT), SX3(S WEJECT ), SX4 (SUBJECT ),

KURI(SUBJECT), KURZ (SUBJECT), KURI(SUBJECT ), EUR4 (SURJECT)
LZ0 COMMON XEB(O), MONC) , VARC), SOC), SEC), MAX (), MINCY, RAC), SECY, KEUR(),
F Oy, NOL 20, N, SURJECT, FILES

130 FOR I = | TO N¥%
140G INPUT #1, 10

120 FOR J = | TO SUEBJEET
L&O INFUT #1, X(.1)

170 SX0) = SXCh+X()
120 SXX () = SXX0L+X 00y #X ()
120 SX2() = EXZMAX (D #X D EX ()
200 SX4 DY = EXA () +X LD X CD X () #X ()
210 NEXT .
220 NEXT T
A0 FOR J = { TO SURBJECT
240 XE(J) =" SX(J)/IN%
250 EURL (D) = SX4(.J0)/N%
250 KURZ(J) = 4#XBE(JI#SX2(J) /NY
240 FURZ() = A#XECID#XB O #SXX () /NZ
220 KLURA() = 4aXB Oy #XEC)#XE ) #SX () /NY
790 A= KURI(d)—KURZ(d)+KUR3(J)—KUR4(d)+XE(J)*XE(J)*XB(J)*

‘ XE(.d)

200 E = (SXX(H-NZ#XE (D) #XE(1))
210 D= EB/(NZ=-1)
370 EUR(J) = As( L) -3
3E0 NEXT .

240 CLOSE #1
50 CHAIN "MENLY, 320



10

20

20

40

S0

&0

70

20

o0

100
110
120
120
140
150
140
170
180
190
200
Z10
220
230
240
250
240
270
280
290
200
310
320
330
340
350
360
370
380
390
400
410
420
430
440
450
4460
470
450
490
S00
510
820
5330
540

PRINT CHR&(24)

PRINT : PRINT

FRINT TARBCZS); "33 # 3435636380333 6 30836 3 4 H H 3
FRINT TAB(2ZS5); "## #"
FRINT TAB(25); "#*x T-SCORE #4#"
FRINT TAB(ZS); "## "
PRINT TAR(ZS); " 335384534 3 53055 535 630 5 633 5 36 36 33431
FRINT : PRINT

INFUT "HOW MANY STUDENTS": N

INPUT "FILE NAME";: FILES$

OGIM IDCNY, TOT(N)Y, Z(N), T(N)

OPEN "I, #1, FILES$

FRINT CHR$(2&)

PRINT - PRINT

FRINT TAE(20); "L YO WANT TO SUM SCORES ... 2¢
PRINT

FRINT TAB(20); " S YES”

FRINT TAB(Z0); " 2. NO®

FRINT

INPLT © FLEASE SELECT (I-2)"iFLAG

ON FLAG GOTO 220, 440

FRINT CHR$(2&)

PRINT

INFUT
FOR I

-
NEXT
FOR I

&
m
><
)

FOR I

NEXT
GOTO
T =
5TT =
FOR 1

NEXT
-
v

S

FRINT

"HOW MANY ITEMS"; ITEM
=1 TON

areIy =
I

0

=1 TO N
INFUT #1, IDCI)

FOR o

= 1 TG ITEM

INPUT #1, X
TOT(IY = TOT(I)+X
NEXT

—t

0
O

TO

o
i on

o O

P

ST

SO -
) -4
Hnunn

L b O < D
A
(e

£
o’

0

STT+TOT(I)#TOT(I)
/N

STT/N-TE#*TE
SER(VAR)

=1 TO N

INPUT #1, IDCI)

INFUT #1, TOT(D)

STT = STT+TOT(1)#TOT(I)
5T = ST+TOT(I)

B i
-

E = ST/N
AR = STT/N-TB*TE

0 = SER

(VAR)
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S50 PRINT CHR$(26)
560 PRINT -

570 FRINT
580 PRINT
590 FRINT
600 PRINT
610 FPRINT
620 INPUT
630 ON FL
&40 REM C
&50 FOR I
LEO z
&70 Z
4680 T
&90 NEXT

700 G
710 FOR 1
720 Z
730 z
740 T
730 NEXT

740 PRINT

770 FRINT -

780 REM F
790 PRINT
200 PRINT
210 PRINT
820 PRINT
830 FRINT

840 PRINT :

850 INFUT

260 PRINT

270 ON FL
880 ENL
890 FPRINT

200 PRINT

210 PRINT
920 PRINT
@30 PRINT

940 PRINT

950 PRINT
260 PRINT
970 PRINT
980 PRINT
90 FRINT
1000 PRIN
1010 PRIN
1020 PRIN
1030
1040
1050
1060
1070
1080 FRIN
1090 FRIN
1100 RETLU

208

PRINT

TAR(20); "D0O YO WANT TO CONVERT FORMULAR. .. 2"
TAB(ZO): " 1 YES"

TAER(Z0); ¥ 2 NO™

" PLEASE SELECT (1-2)", FLAG
AG GOTO 440,710
ALCULATE TO FIND T-SCORE

=1 TO N

(I) =0

(1) = (TOT(I)-TE)/ED

(1) = 50-10%Z(1)

I
o7 760

=1 TON

(1y =0

(Iy = (TOT(I)-TEY/SH

(1) = S0+10%Z(]1)

T

CHR$(26)

FRINT

RINT OUTPUT
TAE(20); "HOW DO YOU WANT THE REPORT... 7"

TAE(2ZS); "1. ON SCREEN ONLY"

TAB(25); "Z. ON PRINTER ONLY"

TAE(25); "3. ON BOTH SCREEN AND PRINTER"

PRINT ,

. PLEASE SELECT (1-3)",FLAG
PRINT '

AG GOSUE £90,1110,1320

CHR&(26)
FRINT
TAR(14); "A PACKAGE PROGRAM FOR EDUCATIONAL TEST EVALUATION®

TAE(29); "OTHER STATISTICS"

FRINT : PRINT

TAE(Z5); " #3383 8 83353333 300 3303

TAR(2ZS); " e

TAE(25); " T-SCORE "

TAB(2Z5); " E2

TAR (Z5) ;"33 553336335 3030 3046303030 30 30 003036

T @ - PRINT

T TAE(Z24); "ID": " “; "SCORE"; " *; “T-SCORE"
A : :
FOR I =1 TON

FRINT USING ###8"; ID(I);
FRINT USING " #HHE #8#" TOT(I)

FRINT USING ™ #HHE. #RY T(D)

NEXT I

T o BRINE

T TAEB(25); "============ =

N




1110
1120
1130

. 1140

1150
1140
117G
1180
1190
1200
1210
1220
1230
1240
1250
1260
1270
1220
1290
13200
1210
1320
1330
13240
1350
1340
1370
1380

290
1400
1410
1420
1430
1440
1450
1440
1470
1420
1490
1500
1810
1520
1530

REM PRINT OUTPUT ON PRINTER

LPRINT TAR(13); "A PACKAGE FOR EDUCATIONAL TEST EVALUATION"

LPRINT

LPRINT TAB(Z9); "OTHER STATISTICS®

LFRINT : LPRINT : LPRINT

LERINT TAR(ZS); " 4345333453330 4053303 3 30363 30903909098 1

LFRINT TAB(25); "#s *H"
LFRINT TAE(25); "## T-SCORE #*#"
LFRINT TAB(Z3); " *H
LPRINT TAE(Z5) 7 #3838 385435 3 30551 2 33 330 36303636

LFRINT : LPRINT

LFRINT TAB(Z3); "IDM; " g VSCORE™; "; "T-SCORE"

LPRINT
FOR I =1 TON
LFRINT USING " #EH##"; ID(I)
LPRINT USING " REH#, #H" TOTD)
LPRINT USING HH#H #8° T(D)
NEXT 1
LFRINT : LPRINT
LFRINT TAB(Z3); "====== Y
RETLIRN
FRINT CHR®(2Z&)
FRINT . PRINT

PRINT TAE(14); "A PACKAGE PROGRAM FOR EDUCATIONAL TEST EVALUATION®

FRINT :

FRINT TARB(Z%); "OTHER STATISTICS®

FRINT : PRINT : FRINT

PRINT TARCZS ) " 45645393 3 3 3530 36 363 3 3090 303040303030 3008

PRINT TAB(2S); "## #a"
PRINT TAB(25); "## T-SCORE #a"
PRINT TAB(25); “#% #a"

FRINT TAR(25); "854 3365353090030 5 3 30 43053 1

FRINT : PRINT
REM

FRINT TAE(24); "1D"; " "; "SCORE"; “; "T-SCORE"

PRINT
FOrR I =4 TON
FRINT USING #H##" IDCI)
FRINT USING “ HHHE #H TOT(I)
FRINT USING " HHHE HH" T
NEXT I
FRINT : PRINT
PRINT TAB(Z5); "======= ====== i




1540
1550
1540
1570
1520
1590
1400
1410
14620
143G
1 &40
1450
LAAD
1&7G
L&20
1690
1700
1710
172G
1730

LFRINT
LPRINT
LFRINT

LFPRINT

LFPRINT
LFRINT
LFRINT
LPRINT
LFRINT

LPRINT :

LFRINT
LFRINT

TAE(14); "A PACKAGE PROGRAM FOR EDUCATIONAL TEST EVALUATION®

TAE(Z9); "OTHER STATISTICS"

LFRINT : LFRINT

TOAR(Z5); " #3453 5035 336 3 3 33030303030 538343 1

TAE(ZS); "#k 3

TAB(ZS); "## T-SCORE #3"

TAR(ZS); "## 3

TAB{Z5 )5 " #5433 263 3463 3 36 3 3 3 3 3030 303 35 30 0 3¢

LPRINT

TAB(Z24); "1D"; " " PSCORE u; *T-SCORE"

FOR I'= 1 TO'N
LPRINT LSING " #a#4a; IDCI);
LPRINT LSING #HEE ##" TOTOD);
LPRINT USING HiHE ## T

NEXT I

LFRINT

LFRINT
RETURN

LFRINT
TAB(25); "=== c




¢

20

20

40

50

fax)

70

78]

100
Lo
120
120
140
120
L&0
170
120
150
200
210
220
20
240
250
260
270
220
290
200
210
2320

330

240

350
260
370
380
390
400
410
420
430
440
450
460
470
430
490
500
510
520
530
540

FRINT CHR$ (2&)
PRINT : FRINT
FRINT TAR(ZS5); "H##888 4405440 HHH R AR R 2 #2255 388"

FRINT TAB(ZS); "## #3"
FRINT TAE(25); "#* SRLIT-HALF E30
FRINT TAE(ZT); "## ' ##

FRINT TAR(Z5); "#3##a 8584 440514 B H AR AR R F 2 EH"
FRINT : FRINT

INFUT “HOW MANY STLUDENTSY;

INFUT "HOW MANY ITEMS®; ITEM

INFUT "FILE NAMEL";FILES$

ODIM SCOITEM), X(N), Y(N), KEY(ITEM)

OPEN "IV, #1, FILES$

FPRINT CHR$(Z4&)

FRINT : PRINT

FRINT TAE(Z0); "D0 YOU WANT TO CHECK SCORE ... 7
PRINT

PRINT TAR(25); “1. YES"

PRINT TAR(25); 2. N

FRINT _

INFLIT® PLEASE SELECT (1-2)"; FLAG

ON FLAG GOTO 220, 640
FRINT CHR$(Z24)
FRINT : FRINT
INFUT “"FILE NAMEZ"; FILEZ%
FRINT CHR$(24)
FRINT "FLEASE GIVE ANSWER ... "
FRINT
FOR I = § TO ITEM
FRINT “KEY("iI;") =_1"
INFUT KEY(I)
NEXT 1
FRINT CHR$(2z4)
PRINT : FRINT
FRINT TAE(Z0Q); "DO YO WANT TO CORRECT KEY ... 2"
FRINT )
FRINT TAE(25); "1, YES"
FRINT TAB(25);"z NiJ"
FRINT :
INFUT FLEASE SELECT (1-2)"; FLAGL
ON FLAGL GOTO 420, 1000
FRINT CHR$(24)
FRINT : FRINT
INFUT Y“CORRECT ITEM":I
IF T = 0 THEN 490
PRINT "KEY(®: 1: ") = %
INFUT KEY(I)
GOTO 440
OPEN "0O", #2Z, FILEZ%
FOR I =1 TON
INFUT #1, 1D
FRINT #Z, ID
INFUT #1, ANSS
SCORES = "¢
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FOR . =1 TO ITEM
A% = MID$(ANSS, .0, 1)
A = VAL(A%$)
IF(EEY()) = A) THEN X% = "1"
SCORES = SCORE$+MID$S(X$, 1, L) . GOTO 400
X$ = 0" . SCORE$ = SCORE$+MIL®(X$, L, 1)
NEXT J
FRINT #2, SCORES
NEXT I

CLOZE #!

0 CLOSE #2

530 OFEN “"I" , #2, FILEZ$
L0 REM CLEAR MEMORY

&70 X = O

&20 BY =0

90 SXX = 0

700 SYY = 0

710 3XY = 0

Z0FOR I = | TON

7320 INFUT #2, 1D

740 INFUT #2Z, ANSS

50 FOR J = | TO ITEMASPER) 2
740 A% = MIDE(ANSS, 4, 1)
770 S0 = VAL(AS)

750 y S = X(I+S()
720 NEXT o
200 =X = SX+X(I)

210 XX = SXX+X(D)#X(1)
220 NEXT I

2230 CLOSE #1
240 OFEN "IV, #Z .FILEZ%

250 FOR I = { TON
260 INFLUT #2,ID

270 INPLT #2Z, ANS$

220 FOR 4 = 2 TO ITEM STEP 2
220 A% = MID$(ANS$, J, 1)
200 S(J) = VAL(A%)

210 Y(I) SNULHS0I

9Z0 NEXT .

30 2Y =.5Y+Y(1)

D40 SYY = SYY+Y(I)#Y{1)
950 NEXT I

260 CLOSE #2

1020
1030
1040

0 GOTO 1310
‘0 OPEN "I", #1,FILE®
0 REM CLEAR MEMORY

SX =0
SY =0
SXX Y
3YY

0
0
SXY =0

A
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1050
1060
1070
1080
1070
1100
1110
1120
1130
1140
1150
1160
1170
1180
1190
1200
1210
1220
1230
1240
1250
1260
1270
1280
1290
1300
1310
1320
1330
1340
13250
1360

1370
1380
1390
1400
1410
1420
1430
1440
1450
1460
1470
1480
1490
1500
1510
1520
1530
1540
1550
15460
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FORI=1TON

INPUT #1,1D
INPUT #1, ANSS
FOR J = 1| TO ITEM STEP 2
A% = MID$(ANSS, J, 1)
S(J) = VAL(AS$)
X(I) = X(I)+5(D
NEXT J
X = SX+X(I)
SXX = SXX+X(D)#X(I)
NEXT 1
CLOSE #!
OPEN "I", #1,FILES

FOR I =1 TON
INPUT #1,1D

INPUT #1, ANSS$
FOR J = 2 TO ITEM STEP 2
A% = MID$(ANSS$, J, 1)
S(J) = VAL(A%)
Y(I) = Y(I)+3(D
NEXT J
Y = SY+Y(D)
SYY = SYY+Y(IY#Y(D)
NEXT I
CLOSE #!
REM CALCULATE CORRELATION

FORI =1TON

SXY = SXY+X(I)#Y(I)
NEXT I

A = N#SXY-SX#SY

B = (N#SXX-SX#5X)#(N#SYY-SY#5Y)

IF B <= O THEN RXY =99 %%
ELSE C = SQR(E) : RXY = A/C .
RXY = 2Z#RXY/(1+RXY)

PRINT CHR$(26)
PRINT : FRINT
PRINT TAE(Z20); "HOW DO YOU WANT THE REFORT... 7"
PRINT
PRINT TAB(25);"1. ON SCREEN ONLY"
PRINT TAB(25);"2. ON PRINTER ONLY"
PRINT TAB(25); "3 ON BOTH SCREEN AND PRINTER"
PRINT : PRINT
INPUT " ‘ PLEASE SELECT (1-3)",FLAG
PRINT : FPRINT
ON FLAG GOSUE 1510, 1710, 1900
GOTO 1370
END
REM PRINT OUTPUT ON SCREEN
PRINT CHR$(26)
PRINT : PRINT
PRINT TAB(17); "A PACKAGE PROGRAM FOR EDUCATIONAL TEST EVALUATION®
PRINT
PRINT TAB(35); "RELIABILITY"
PRINT : PRINT : PRINT



1570 PRINT
1580 PRINT
1590 FRINT
1400 PRINT
1410 FRINT
0("_
1450 PRINT

TREMARE

1640 FRINT
FRI
FRI

poos
i~
e

D
Ik

20 PRINT
20 RETLURN
i7uu REM FR

S
o~ O
‘_I o \j o~ oLn

1710 LPRINT :

1720 LPRINT
1730 LPRINT
1740 LFPRINT

1750 LPRINT

1760 LFRINT
1770 LPRINT
1780 LFRINT
1720 LPRINT
1200 LFRINT

i

O LFRINT

LF
LP

=0

Ll o

O LPRINT

o an

O RETLIRN
0 REM FR
l) FRINT

\v -n ln o ) n U0

L
271
5
ol
0

7“ FRINT
1920 PRINT
1990 FRINT
2000 PRINT
2010 PRINT
2020 FRINT
Z0320 FRINT

Ph—l—-l—‘b—l——l—hl——b—-

2040 PRINT :

2050
20460

FRI
FRI

2070 PRINT :

2020 FRINT

2090 LPRINT

O PRINT

O PRINT :

1210 LERINT

i0 LPRINT

0 LPRINT :

D LPRINT :

Z) I:F\INT ;

214

TAB(Z5); "## R H AR HARHHH B H A FHHHH R RHH
TARB(Z5) ;. "% ##"
TAB(Z25); "#* SPLIT-HALF #u
TAR(Z25); "#4# el E
TAR(Z5); "## 4R A A X FHHHHHHF AR IR I FAFE 4
FRINT - :
TAE(LO);
99 9% 15 PRINTED IF =D AND R CANNOT EE COMPUTELDRY
FRINT
NT TAE(S); "TEST(1)"; =
NT TAE(L7); "R ="; USING "H#### #a###"; RXY
FRINT
TARI25); Vessnsoessssnanmosanrsasar s me il
INT QUTFUT
LFRINT

TAE(15); "A FPACKAGE FROGRAM FOR EDUCATIONAL TEST EVALUATION

TAE(35); "REALIABILITY"
LFRINT : LPRINT

TQ[ (Z5); "33 23030303 3 3303 IR
TAB(Z5); "#% !
TAB(25); "## !
TAB(25); "% 4
TAEB (25 ) ; " 333634 3304 303030 30303000 30 36 3636 36 38 3 30 0 030 3t 6 30 6 3
LPRINT
TAE(10);

LPRINT
RINT TAE(S
RINT TAB(17); "R
LPRINT
TAB(Z5); "
LPRINT

SELIT-HALF

" REMARK : @92, 99 1S PRINTED IF S0 AND R CANNOT EE COMPUTED"

Yi *TEST(CL) 7

= USING "HEHE #EREE" RXY

INT OUTPUT ON SCREEN AND FRINTER
CHR$(24)
FRINT 3
TAE(14); "A PACKAGE FROGRAM FOR EDUCATIONAL TEST EVALUATION
TAE(32); "RELIABILITY"

: PRINT : PRINT

TAB(Z5) 7 #3433 3383003033 3030 3 3 3 3033 S S 30 0 2

TAB(23); "#* #3t "

TAB(25); "% o

TAB(25); "##% #3!

TAE(Z5); ”*****%**************%***** -

: PRINT '
TAE(10);
FRINT
NT TAEB(S); "TEST(L1)";

NT TAE(17); "R =";USING
FRINT
TAE(25); "====
LFRINT

SPLIT-HALF

"REMARK w2, 92 IS PRINTED IF 5D AND R CANNOT RBE COMPUTED"

U BHEHE" RXY

2100 LFRINT TAE(1&)i"A FACKAGE FROGRAM FOR EDUCATIONAL TEST EVALUATION"
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03]
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e e S S

2240

3 LPRINT

LFRINT

20 LPRINT
0 LPRINT

LERIRT

} LFRINT
O LPRINT
0 LPRINT
LFRINT
0 LFRINT
LFRINT

TAE(35); "RELIABILITY"
LFRINT : LFRINT
TAER(ZS) 5 "4t 3 4 30 2 N H A H B F R

TAR(ZS)y; "% ; 0
TAE(Z5); "#% SFLIT-HALF L
TAR(Z5); "## F

TAE(Z5); "t 544 H 44 S AR R AR A F R B HF R H R R 22
LFRINT
TAE(LQ); " REMARK : P 29 15 PRINTED IF
LFRINT

LFRINT TAE(S); "TEST(1)";
LFRINT TAE(L17); "R ="; USING "###i#4 #8884 RXY

3 LFRINT -
5 LERINT
LFRINT -

3 RETLRN

LFRINT
TALR(Z25); '======z==sco=soosooosssooszoooz===
LFRINT

215

SO AND R CANNCT EE COMPUTED™



216

10O PRINT CHR$(26)
20 PRINT : PRINT
J0 PRINT TAEB(ZS); "##ta ittt A4 # 4 5 AHEH BB R A A AR SRR

40 FRINT TAE(ZS); "#% i LT
S0 FRINT TAE(ZS); "## U=L. 27 FPERCENT #*i!
A0 FRINT TAEB(25); "## #3"

70 FRINT TAE(ZS); " S80St A H S R4 P A S S A B H R R A RSS2

20 PRINT : PRINT

20 INFUT "HOW MANY STULDENTSY; N

100 INFUT "HOW MANY ITEMS"; ITEM

110 INFUT "HOW MANY CHOICES"; CH

120 INFUT "FILE NAMEL";FILE!$

120 INFUT "FILE NAMEZ";FILEZ$ -

140 TIIM RH(ITEM*CH).RL(ITEM*EH),P(ITEM*CH),HEY(ITEM);TDT(N);EH(ITEM*CH),EB(CH),
RROCH) ) INDEX(N), RCITEM#CH), BEL(ITEM#CH)  EL (ITEM#*CH)

150 OPEN "I", #1,FILE!lS%

1640 OPEN "0, #Z,FILEZ$

170 FOR I = 1 TO ITEM

120 . PRINT "KEY("; I; ") S=<; .

1920 INFUT KEY(I)

200 NEXT I

Z10 GOTO 380

220 FRINT CHR$(Z6&)

230 FRINT : FRINT

240 PRINT TAE(Z0); "DO YO WANT TO CORRECT ANSWER ... 7"

250 PRINT

260 FRINT TAE(Z2S); "1, YRS

270 PRINT TAE(Z5); "2 NGO
280 FRINT |
290 INFUT " FLEASE SELECT(1-2); FLAG

300 ON FLAG GOTO 310, 380
310 PRINT- CHR$ (24)
320 PRINT : FRINT
30 INFUT “ITEM TO BE CORRECTED"; I
240 IF 1 = O THEN 440
350 PRINT "KEY("i [3") = "
360 INPUT KEY(I)
370 GOTO 330
350 FOR I = 1 TO N

i
3 B

(7R

290 INPUT #1, ID

400 INFUT #1, XX$

410 FOR 4 =1 TO ITEM

420 X$ = MIDS(XX$, J, 1)

4320 X = VAL (X%$)

440 . ' IF (X = KEY())) THEN TOT(I) = TOT(I)+1
45 NEXT o

460 NEXT I

470 CLOSE #1

420 FPRINT CHR$(24)

490 FRINT : FRINT

300 PRINT "FLEASE DO NOT INTERRUPT ... *
SI0OFOR I =1 TON

220 INDEX(I) =1



530 NEXT 1

540 FOR I = 1 T N

550 FOR J = 1 TO N-I

540 IF (TOT(J) = TOT(JH+1)) THEN &350
=70 SSAVE = TOT(J)

520 TG = TETGED)

590 CTOT(I+1) = S5RVE

AOO KEEF = INLDEX (1)

&10 INDEX () = INDEX(J+1)

LZ0 INDEX(J+1) = KEEF

L300 NEXT

A40 NEXT I

LS50 FOR I = 1 TON

L0 LERINT TAE(S); "INDEX("; I; ") = "i INDEX(I)
L70 NEXT I

A20 NOZ = . 27#N

£20 LPRINT TAE(S); "NOZ ="; NOZ

700 NOL = N—~(Z#NDZ%) : NOL = NOZ+NOi+1

710 LPRINT TAR(S); "NOL =";NQl

770 FOR I = 1 TO NOX

730 FOR o = 1| TO NOZ-I

740 IF INDEX ) <= INDEX(J+1) THEN 720
750 KEEF = INDEXC(.)

7EO INDEX(J) = INDEX(J+1)

770 INDEX (J+1)/ = KEEF

780 NEXT J

720 NEXT I

200 FOR I = 1 TO NOX

210 LERINT TAE(S); "INDEX("; I;") = "i INDEX(I)
220 NEXT 1

220 FOR I = NOL TO N _

240 FOR J = NOI TO NOl+(N=I=1)

250 IF INDEX(.D) €= INDEX(J+1) THEN 290
B840 KEEP = INDEX(J)

g870 INDEX(J) = INDEX(J+1)

280 INDEX (J+1) = KEEP

290
200
210
D20
230
240
Q50
P40
970
220
290

1000

1010
1020
10320
1040

NEXT .
NEXT I
FOR I = NOL TO N
LFRINT TAE(S); "INDEX("; I; ") = "; INDEX(I)
NEXT I
J =1
OPEN "I", #1,FILEL%
FOR I = | TON .
- INFUT #1, 1D - . /
INPUT #1, XX%$ E
IF (J > NOX) THEN 10350
IF (ID >< INDEX(J)) THEN 1040
FRINT #2, 1D
PRINT #2, XX%
o =g+l
NEXT I

217



1050
1040
1070
1020
1020
1100
1110
1120
1120
1140
1150
1140
1170
1120
1120
1200
1210
1220

230
1240
1250
1240
1270
1280
1290
1300
13160
1320
13230
13240
1330
1340
1370
1320
1220
1400
1410
1420
14320
1440
1450
1440
1470
1473
1420
1420
1500
1510
1520
1530
1540
13950
1540
1870
1580
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CLOSE #1
OFEN “I", #1, FILEL$
" J = NOi
FOR I =1 TO N
INFPUT #1, 1D :
INPUT #1, XX$
IF (J > N) THEN 1170
IF (ID »< INDEX(J)) THEN 1140
FRINT #2, 1D
PRINT #Z, XX%
Jd o= 4+
NEXT 1
CLOSE #1
CLOSE #2
OPEN "I", #2Z, FILEZ$
FOR I = 1 TO NOX
c=0
INFUT #2, 1D
INPUT #Z, ANS$
FOR J = 1| TO ITEM
A% = MID$(ANSS, . 1)
A VAL (A$)
FOR JJ =1 T CH
' RR(AD) = O
IF (A > CH) THEN EE(JJ) = BE(JJI)+1
IF (A ¢ JJ) THEN 1320
RR(JJ) = RR(JD+1
NEXT JuJ
FOR JJ = 1 TO .cH
K = {J=1)#CH
RH(K+Jd) = RH(K+J)+RR(JD)
© BH(K+JD) = BH(K+JJ)+BB(JD)
NEXT JJ.
NEXT J
NEXT I
FOR I = NOL TO N
INPUT #2Z, 1D
INPUT #2, ANS$
FOR J = 1 TO ITEM
$ = MID$(ANSS$, J, 1)
VAL (A%)
OR JJ =1 TO CH
RR(JJ) = 0
ER(LD = 0
IF (A > CH) THEN BE(JJ) = BE(JJ)+!{
dF (A < JJ) THEN 1510
RR(JJ) = RRUJD +1
NEXT JuJ
FOR JJ = 1 TO CH
K (J—1)#CH
RL(K+JJ) = RL(K+J+RR(JD)
BL(K+JJ) = BL(K+JJ)+BE(JJ)
NEXT
NEXT J
NEXT I

i u
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REM CALCULATE DESCRIMINANT AND DIFFICULTY
C =0

FOR I = § TO CH#ITEM
Bl(I) = 0O { .
LPRINT "EBH("; I;") = ";EBH(I):; " Wi YBLAY IitE = MiBLATD)

EL1(I) = BH(I)+EL(I)

F(I) = 100/ (2Z#NO%-EH(I)-EL(I))* (RH(I)+RL(I))

R(I) = RH(I)/(NOZ-BH(I))-RL(I)/(NOZ-EL(I))

LPRINT ELCID); " " EHCI) " SHBELC LY iRl Y REL )
NEXT I
CLOSE #1

FRINT CHR$(Z4)

FRINT : FRINT

FRINT TAE(ZO); "HOW DO YO WANT THE REFORT . ..
FRINT

FRINT TAE(ZS); "1, ON SCREEN ONLY"

FRINT TAR(Z5); "2, ON PRINTER ONLY™

FRINT TAE(ZS); "3 ON BOTH SCREEN AND FRINTER"
FRINT : FRINT

INPUT * PLEASE =EL ECT (1-3) ";FLAG
ON FLAG GOSUE 1200, 2440, 3200

GOTO L&20

END

FRINT CHR$(Z4)

FRINT : FRINT

FRINT TAE(14); "A FACKAGE FROGRAM FOR EDUCATIONAL TEST EVALUATION"

FRINT
FRINT TAE(Z32); "ITEM / ANALYSIS"
FRINT

FRINT TAE(Z4);". . JOHNSON. . "
PRINT : FRINT
FRINT TAE(Z5); " 3333 3330 303030 303050 3 3 S M 3

FRINT TAE(25); "#% #HY
FRINT TARB(ZS); "#%* . U=t 27 PEREENT ##"
FRINT TAEB(ZS); "#% 3"

FRINT TAE(Z5); #3358 33 03555030 36 30303030 30 36 3030 3 3 R 20 26
FRINT : PRINT

Jo=00

cC=1
FRINT TAB(34); "N"; " By NS "y UNO
FRINT TAEB(Z); "ITEM NO. "; " "; "RESPONSE"; " "
“HEGHY; * Ui TLOW"; "i "RESFONSE";
" "i IIPII‘. " II; "Rll
FRINT
L =18 :

FOR.I = 1 TO ITEM*CH 4

IF (C>CH) THENC = | : J = J+!
IF (C >< KEY(J)) THEN 2230

IF (C > 1) THEN 2140

PRINT TAE(3); USING "“###"; J;

PRINT TAE(20); "#"; ‘

FRINT TAE(Z1); USING “#";C;

FRINT TAE(31); USING "####"; RH(I);
FRINT TAB(40); USING "####"; RL(I);
FRINT TAE(S2); USING "####"; BL1(I);



2100
2140
2120
2130
2140
2150
2140
2170
2180

2190

RO ON IO N

N

. s ng

R D DO o B S
oy
it Nl

RO SN SR S U

N RS RS RS T

~N D
Ca o ) " O e

=y
<

2350

2360
2270
2350
2390
2400
2410

2420 PRINT

2430
2440
2450
2440
2470
2420

2490
2300
2510
2520
2530
2540
2550
2360
2570
2380
2390
2600
Z&10
2620

FRINT
FRINT
GOSUR

"TAE(432); USING
TAB(76); USING

4520

GOTO 2400

FRINT
FRINT
FRINT
FRINT
FRINT
FRINT
FRINT
GOSUE

TAE(20); "#";
TAR(ZL); USING
TAE(321); USING
TAE(40); USING
TAR(S2);: USING
TAE(A3); LISING
TAE(74); USING
4520

GOTO 2400

IF & 3

FRINT
FRINT
FRINT
FRINT

1) THEN Z3Z
TAR(S); LISING
TAB(Z1)i USING
TAB(33); USING
TAE(40); USING

“HEE HHRY P(D)

"R #E#E RO

"#"; G

CHEHE RH(D)
UHHHHY RL(T);
"HHHEH BT

THEH HHE" F(D);

HOBHRROD)

)

HEH";
"#Y; CH
R RH(D)
“HHEHH RL(T);
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FRINT TAB(S52); USING “####'5B1(1);
FRINT TAEB(AZ); USING “### HE8"; F(I);
FRINT TAB(76); USING "## ###"; R(I)
GOSUE 4520
GOTO 2400
FRINT TAE(Z1);,USING “#";C;
FRINT TAE(23); USING "####"; R(I);
FRINT TAE(40); USING “####"; RL(I);
FRINT TAE(S2); USING “####"; BL1(I);
FRINT TAB(&3); USING "“### ##8"; F(I);
FRINT TAB(&8); USING "## ###'; R(I)
GOSUE 4520
C = C+]
NEXT I
FRINT
PRINT TAB(ZS5); " = *
RETURN
REM FRINT QUTFUT ON PRINTER
FAGE = |
FOR I =1 TO 6 b
IF I = 4 THEN LFRINT TAE(68); "PAGE";
TAE(74); USING "####"; PAGE : PAGE = PAGE+]
LFRINT
NEXT I
LFRINT TAB(18); "A PACKAGE PROGRAM FOR EDUCATIONAL TEST EVALUATION"
LPRINT
LPRINT TAB(34);"ITEM- ANALYSIS"‘
I.LPRINT :
LFRINT TAB(35)5"...J0HNSON My
LPRINT : LPRINT
LFRINT TAB(ZS5) i 338334333636 3 3 36 36 36 6 3 36 3030 26 6 5 36 36 6 H 3 30 36 26 20
LPRINT TAE(25); "## . ##"
LFRINT TAB(Z5); "## U-L 27 PERCENT #3#"
LPRINT TAB(25); “## ##"
LERINT TAB(Z5); 33888588 000 55 4 5 5 5 0 R E B BB BB B B BB

LFRINT : LPRINT
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3100
2110
3120

FOR

Tk

12
i
1

INT

LFRINT

LPRINT TAE(Z); "ITEM NO. " " "
"HIGH";

LFRINT
T
I 4

(J
IF (C

LFRINT
LFRINT
LFRINT
LFRINT
LFRINT
LFRINT
LFRINT
LPRINT

TAE(34); "N";

" .

i LW
|l; HFIII’. n

L+3
TO ITEM=CH
IF (B >
ITEM) THEN 2140
< KEY(.J)) THEN
IF (C >

CH) THEN C =

1) THEN ZE40
TAE(4); USING
TAE(20); "#";
TAR(Z21); USING
TAE(Z1); USING
TAE(40); USING
TAB(SZ2); USING
TAR (&4&); DSING
TAR (745 LS ING

GOSUE 4400

GOTO
LFRINT
LFRINT
LFRINT
LFRINT
LFRINT
LPRINT
LFRINT

=120

TAB(ZO) ;" "i

TAE(Z1); JZING
TAE (21 ); WS ING
TAE(40); USING
TAB(S2); USING
TARB (A4 i IS ING

TAE(74); USING

GOSUE 4400

GOTO
IF C
LPRINT
LPRINT
LPRINT
LFRINT
LPRINT
LFRINT
LFRINT

3120
> 1) THEN

2050

. M. U .
H N L !

"RESFONSE";
ey 0 "; "RESPONSE"
Ill. HRII

1ol o= del
N 2250
UHEHY

Bk A
YHEHE
"HERH" S RL(I)
RHHHET BEL(D)
NS #HFP(D)
VHE #EHT ROD)

RH(I);

" ;
YHEERY RHODD)
YRR RL(ID S
YHEHH BL(D);
YHER HHSF(DD)
" HEH#H" R(I)

TAB(4); USING "H##E"

TAB(Z1)i USING
TAB(21); USING
TAB(40); USING
TAB(S52); USING
TAE(44) ;i USING
TABR(76&); USING

GOSUE 4400
GOTO 3120

LPRINT
LFRINT
LFRINT
LFRINT
LPRINT
LFRINT

TAE(21); USING
TAB(Z1); USING
TAB(40); USING
TAEB(S2); LSING
TAB(4&); USING
TAEB(74&); LISING

GOSUE 4400

c =

F130 NEXT I

3140 LPRINT
3150 LFRINT TAB(25); "=
31:5 LFRINT

C+l

LPRINT :

LPRINT

" # n., "‘"
"
nE RL (D)
"R B
Ui P (D)
" #44 RO)

RH(I);

Il#ll .

"####" RH(I);
"HEH##"RL(I)
"HHE" RO
T H#"FP(D)
“Hé - H#H" ROD)

LFRINT

S4 LPRINT TAE(S5); "# CORRECT ANJWER"
*157 LFRINT CHR$(12)
2140 RETURN

“N!:l”
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1170 REM FPRINT QUTPUT ON EOTH SCREEN AND FRINTER
1120 PRINT CHR$J26)
1190 FRINT : FRINT
200 PRINT TAR(12); "A PACKAGE PROGRAM FOR EDUCATIONAL TEST EVALUATIONY
3 PRINT
20 PRINT TAE(Z0); "ITEM ANALYSIS®
220 PRINT ,
0 FRINT TARE(Z24);". .
2250 FRINT : FRINT
LC PRINT TAE(ZS); " #3884 5040450 33 3 330 R R HH NI SR 3"
70 PRINT TRE(ZT); "#* #4"
20 PRINT TAER(ZD); "#% =L, 27 FERCENT e
P70 PRINT TAE(2D); "## #a
00 PRINT TAE(ZS); " #5545 4% FH4HH4HH 138100 F R R HHHHHHH"
0 FRINT : FRINT
0=
O .=
FRINT TAE(ZS); "NO. "5 "
FRINT TAB(4); "ITEM NO. " "
"RIGHT ANSWER";: " i TWRONG

JOHNZON,

" ; " N‘:l. i
" "RESPONSE"; " "
ANSWER"; " "; "RPEI"

TO ITEM#CH

» CH) THEN_& 7/} o= dt ]
IF (C < EEY (X)) THEN/ /2340

IF (C > 1) THEN 2470

FRINT TAE(&); USING "###" .15
FRINT TAE(ZO); "#";

FRINT TAB(Z1); USING "#"; C;

FRINT TAE(33); USING “"####";R(I);
FRINT TAE(S1); USING “####"iW(I);
FRINT TAEB(4&28); USING “# ##&"; RFEI(I)
GOSUE 43520

GOTO 23690

FRINT TAE(Z0); “#";

O FOR

3300 FRINT TAE(21);USING "#";C;

3510 FRINT TAEB(33); LSING "#H###"; R(I);
2520 FRINT TAB(S1); USING "#H#H##"; W(I);
33320 FRINT TARB(4L8); LUSING "# ###" RFEI(I)
3540 GOSUR 4520

3550 GOTO 23690 :

3560 IF (C 2> 1) THEN 3440

2570 FRINT TAE(A); USING "###"; d;

2380 FRINT TAE(Z1);USING "#"; C;

2590 FRINT TAEB(33); USING "####";R(I1);
3600 PRINT TAER(S1); USING "####"; W(I);
2410 FRINT TAE(68); USING "# ###"; RPEI(I)
2620 GOSLE 4520

2430 GOTO 2490

3640 FRINT TAEB(21); USING "#";C;

2650 FRINT TAB(33); USING “"####";R(1);
3660 FRINT TAE(S1); USING "$####"; W(I);
3670 FRINT TAE(48); USING "# ###";RPEI(D)
2680 GOSUR 4520

2490 C = C+]

2700 NEXT I

3710 FRINT : PRINT

___________ i

3720 FRINT TAE(25); "=============s====== ==
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2730 PAGE = |
2740 FOR I = P TO &

37350 IF I = 4 THEN LFRINT TAE(&2); "FAGE";
TAE(74); LISING "####": PAGE : FAGE = FAGE+]
g LFRINT
0 NEXT I
720 LPRINT TAE(14); "A FACKASGE FROGRAM FOR EDOUCATIONAL TEST EVALUATION"
2790 LPRINT

200 LPRINT TAE(ZZ); "ITEM  ANALYSZIZ"
10 LPRINT : LPRINT : LFRINT
120 LPRINT TAE(Z5); #3388 543 %3044 083 04330 30 4 4 HH 4 2 23"

130 LFRINT TAE(ZS); “## ##H
0 LPRINT TAE(Z5); "#4+ U-L. 27 PERCENT ##"
50 LPRINT TAE(ZS); "## #3"
O LPRINT TAE(ZS); " H#HH 44448t aat 55555545555 H 545 %3"
O LPRINT : LFRINT
0 Jd =]
0 o= ]
LPRINT TAE(Z4); "N"; " N He NG
LPRINT TAE(Z); "ITEM NO/ MM ¥; "RESPONSE™; e
MHIGH"; ® PR RV " "RESFONSE";
H hy WP aal waiE S
0 LPRINT
0 L o= 22

3 FOR I = 1 TO ITEM*CH
250 IF ( € > CH) THEN Z/5# - Pq w =\u+!
IF (J Z ITEM) THEN 4340
IF (& > KEY(1)) THEN 4170
IF (& > 1) THEN /4020
LFRINT TAE(4); USING “"###"; 4

4000 LFRINT TAB(Z0); "#";
4010 LFRINT TAB(Z1); USING "#" C;

4020 LPRINT TAE(31); USING “####" RH(1);
40720 LFRINT TAB(40); USING “####°5 RL(I);
4040 LPRINT TAB(S2); USING "####"; B1(1);
4050 LPRINT TAB(&&); USING “d#i## ##"; F(1);
4040 LPRINT TAB(764); USING “## ###";R(1)
4070 GOSUE 4400

4080 GOTO 4340

4090 LPRINT TAE(Z0); "#";

4100 LFRINT TAB(Z1);USING “#"; C;

4110 LPRINT TAB(21); USING "####"; RH(1);
4170 LFRINT TAB(40); USING “"####"; B1(1);
4130 LPRINT TAB(AA); USING “### ##";F(1);
4140 LPRINT TAB(74); USING "## ###"; R(I)
4150 GOSUE 4400

4140 _ BOTD 4380 - :

4170 IF ( © > 1) THEN 4270

4130 LPRINT TAB(4); USING “###"; J;

4190 LFRINT TAB(21); USING "#"; C;

4200 LPRINT TAB(31); USING "####"; RH(I);
4710 LPRINT TAB(40); USING "####"; RL(I);
4270 LPRINT TAB(S2); USING “####"; B1(1);
4730 LPRINT TAB(6&); USING "#i## ##";F(1);
4240 LPRINT TAB(74); USING “## ###";R(I) )
4250 GOSUR 4400

4240 GOTO 43240 ' -
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4370
4320
43590
4400
4410
4420
4430
4440

4450
4440
4470
4420

4420
4500
4510
43520
4530
4540
4350
45460
4570
43580
4590
44600
4410
4420

4430
44640
44650

LPRINT TAE(Z1); USING "#";Ci
LFRINT TAB(Z1); USING "####"; RH(I);
LPRINT TAE(40); USING "####";i RL(I);
LFRINT TAR(32); USING "####"; B1(I);
LPRINT TAE(&46): USING "4 ##";F(I);
LFRINT TAR(76); USING "##. H###";R(I)
GOSUE 4400

C = C+l

NEXT I
LPRINT : LFRINT

LFRINT TAE(Z23); "== = L
LFRINT CHR$(12)

RETLIRN

L = L+!

IF L < 54 THEN 4510

LPRINT CHR$(12)

FOR II =1 TO 3
IF II = 2 THEN LPRINT TAB(48); "PAGE"; TAB(74);
USING “####"; PAGE : PAGE = PAGE+]
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LPRINT
NEXT II
LPRINT TAE(34); “N";" "iUNT "; "NO"
LPRINT TAB(2); "ITEM  NO. "; " *; "RESPONSE"; *
YHIGH"; " i rLOW" " "; "RESPONSE";
it ll‘. lIP"‘. L1 ll; IIR"
LFRINT
L=2¢6
RETURN
L =L+l
IF L < 21 THEN 45430
FRINT
INPUT "TO CONTINUE ... PLEASE PRESS RETURN "iCC
L=20

FRINT CHR$(26)
FOR II = 1 TO 2

PRINT
NEXT 11
PRINT TAR(34); "N"; " T ok "; "NO"
PRINT TAB(2); "ITEM NO.“; " "; "RESPONSE"; *
IIHIGH Il; " "; IILON ll; " "i IIRESPONSE ll;
1 "i IIPII; " ll; "R"
PRINT
L=5
RETURN
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STATTSTICAL OACKA3E F)2 THE SOCIAL SCIEMCES
FILE NONAME (CAZAT 13N DATE = 13795/8%)
DAPTA
A\ SELI TS

CATEGZRY LABEL cane (33

1. ?

2. 3

3. +5

Y. 5

Se 3

TCTAL 132

MEAN 3427 3T) =@ ¥ =Te 208
qI0E 3.0)) TS 35} s Cet%3
Ry TES TS NedhH SKEANERR =208
WL N M 1.00) i P g6 Wk %.2C30
VAL 1 CASES 139 1 S8 ONG I DA SED Q

ARTA TE YVFFK
T ) T Vi
FEWSINAES4RJ U5 70D
FoEN &L= 3
(ER) (2C7)
2.9 sl D
A ) D
45.7 “7 .0
3. 35.3
2. 7.0
1004 101.9
e
VA2 AP
o LS
.

LAYER S8 VELYES

Vel 2
(2 4

44,307

oro

228

Yy pye

YyAR A €D

137057

R

LERE See RSy

73
.



STATISTICAL PACKAGE FOR THE SOCIAL SCIENCES

el M

FREQ

(PCT)

100.0

4,444
0.652
2.000

cuM
FREQ
{PCT)
10.0
30.0
75.0

100.0

3.944
0.834
3.000

229

FILE NCNAME  (CRCATION DATE = 13/05/83)
PARTH
T S — = o _RELATIVE . ADJUSTED
ARSOLUTE  FREQ FREQ
CATEGCRY LABEL cant FREQ (PCT) (°CT)
2. 3 3.0 3.0
) 3, 13 13.0 13.0
b 36 36.0 36.0
5. 49 48.0 48.0
TOTAL 190 100.0 100.0
MFAN 4,299 STD EPP 0.091 MEDTAN
MCCE 5.009 STC DEV 0.808 VARTANCE
KLRTOSIS 0.299 SKEWNESS -0.932 RANGE
 MINIMUM . 2.007 MAX MU 5.000 o
VALID CASES 100 MISSING CASES ¢
STATISTICAL PACKAGE FOR THE SOCIAL SCIENCES
FILE  NCNAME  (CREATION DATE = 13/05/83)
PARTC
PELATIVE ADJUSTED
, ABSOLUTE  FREQ . FREN
- CATEGCRY LABEL CODE  FREQ (PCT) .. PCTI
2% 10 10.0 10.0
3. 20 20.0 20.0
s 45 45.0 _ . .45.0 -
Be 25 25.0 25.0
TOTAL . 100 100.0 100.0
MEAN 3,850 "sTD ERR 0.091 MEDIAN
- MODE 4.000 STD DEV . 0.914 VARI ANCE
- KURTOSIS ~Q.461 SKEWNFSS ~0.505 RANGE
- MINIMUM 2.000 MAX IMUM 5.000 ,
___VALID CASES. . . 100 . a i

MISSING. CASES ...
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STATISTICAL PACKAGE FOR THE SOCIAL SCIENCES

FLILF NCNAME (CREATION CATE = 13/05/83)

PARTD
KFLATIVE ADJUSTED CUM
: ABSILUTE FREQ FREC FREC
CATCGCRY LABEL E0.JE FREQ (PCT) (PCTY {pCT)
2 N2 12.0 12.0 12.0
B 18 18.0 " 1%.0 30.0
4 4¢ 46,0 4640 76.0
Se 24 24.0 24.0 100.0
TOTAL 100 100.0 107.0
MEAN 34320 STD ERR 0.094 MEDIAN 3«35
MODE 4.000 STD "QEV 0e926 VARIANCE 0.376
KURTASIS =0.+489 SKEWINESS =0.535 RANGTC 3.000
MINIMUM 2.009 HAXTMUM 5+€0C
VALID CASES 100 MISSING CASES Q

STATISTICAL PACKAGE FOR THE SOCIAUSCICNCES

FiLE NCNAME (CREATICN DATEY=13705/832)

PARTE
RELATIVE ADJUSTED cumM
_ ABSOLUTE FREQ FREQ FRTQ
CATEGCRY LABEL CCDE FREQ (PCT) (°CT) (PCT)
2, & 4.0 ko 4.0
3. 24 © 24.0 24.0 28.0
- 36 3.0 36.0 64.0
5, 36 36.0 16.0 100.0

TCTAL 100 100.0 . 100.0
ME AN 4,049 STHD ERR 0.088 MEDTAN 4.111
- MODE 4.009 STD DEV 0.875 VARIANCE 0.766
 KURTOSIS = -0.754 SKEWNFSS ~ D AKT RANGE . 2,000

MININUM . 2.000 . MAXIMUM 5.000 ¥

VALID CASCS 100 MISSING CASES 0
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STATISTICAL PACKAGE FNR THE SOCIAL SCIENCES

FILE  NCNAME  (CREATION CATE = 12/05/83)
Y.
PARTF 5 .
! RELATIVE ADJUSTED cuM
ARSOLUTE FREN FREQ FRFQ
CATEGCRY LABEL COnE FREQ (PCT)  (PCT) (PCT)
2. 1 1.0 1.0 1.0
3 5 £.0 n [ERE 6.0
- 37 37.9. . ... .31,0 43.0
5. 57 57.9 57.0 100.0
TOTAL 100 100.9 100.0
 MEAN 7 4.503 510 ERR\MY 0.064 MENTAN 4,623
MnDE 5.000 STD DEV 0 blk VAR ANCE 0.414
KURTOSIS 1,302 SKEWNESS -1.16) RANGE 3.000
© MINTMUM 2.000 MAX IMUM 5.0C0
VALID CASES 100 .. MISSING CASES 0
~ STATISTICAL PACKAGE FOR THE SOCIAL SCIEMCES
“FILE  NCNAME  (CREATION DATE = 13/05/83)
PARTG
RELATIVE ADJUSTED cuM
- ‘ ABSOLUTE FREN FREQ FREQ
CATEGCRY LABEL CO0E FREQ (PCT) (PCT) (PCT)
L e, T 1 1.0 . 1.0 1.0
3 4 : 4e9 4,0 5.0
¥, 15 15.9 15.0 20.0
5. 80 . .. 80.0 80.0 100.0
TOTAL 100 . 100.0  100.0
MEAN 4.740 STD ERR 0.058 MEDT AN 4.875
MCDE . _ . 5.000 ... STD DEV _ _ 0.579 ..  VARIANCE . 0.336
KLRTOSIS 6. 226 . SKEWNESS -2.454 RANGE 3,000
MINIMUM 2.000 MAX 1MUM 5.000

" VALID CASES 100 . "MISSING CASES 0
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.
CSTATISTICAL PACKAGE FIR JHE SUCIAL SCLITNCES

L ELLE NCNAME (CREATIGN. DATE = 13/05483) ... . _ - iy

PARTH
RELATIVE ADJUSTEN CUM
. ARSOLUTE FRFN FREQ FREAQ
* CATEGCRY LABEL ; CODE FREQ {PCT) (PCT) (PCT)
i
0. 6 6.0 6.0 6.0
e 27 o 2T0 s 2740 3340
18 41 41.9 41.0 74.0
A 23 25510 23.0 97.0
s 2 3.9 S 100.0
TOTAL 190 100.0 1€0.0
- MEAN 1.900 STD FRR 0.093 MFDIAN 1.915
MCOE 2.00) ST) DEV 0.9217 VARTANCE 0.859
KURTEGSIS -0.357  SKEWNESS -0.031 RANGE 4.000
VIN(MUH 0.0 44X IMUM 4.000
“VALID CASES 100 MISSING [CASES 0
" STATISTICAL PACKAGE FOR THE SOCIAL SCIENCES
FILE = NCNAME  (CREATION CATE = 13/05/83)
PARTI
. 'RELATIVE ADJUSTED CuM
: ABSOLUTE ~ FREQ FREQ FREQ
* CATEGCRY LABEL CCDE FREQ (PCT) (PCT) (PCT)
0. 1 1.0 1.0 1.0
Tie 7 IR T, ST, I AR o,
2 22 220 22.0° 30.0
B 48 " 43,0 . _ 48.0 78.0
- e B e Tl 2Rl 210 R
5. 1 1.0 1.0 100.0
"TaTAL 120 100.0 100.0
CMEAN 2.340  STO ERR 0.091 MEDTAN S 2,917
. MODE 3,000 STC DEV 0.907 VARIANCE 0.323
- KURTOSIS 0.334 SKEWNESS . -0.504 RANGE 5.000
MINIMUM . 0.0 MAXIMUM 5.000 4

—~VALID. CASES . 100 . MISSING CASES. - 8
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. .STATISTICAL PACKAGE. FJ? THE SOCIAL SCIEMCES

TILE NCNAME {CREATION 'CATE = 13/C5/83)

e
PARTY

RELATIVE  ATJUSTEND cuyY

- APSOLUTF FPF) FRFQ FPFQ

CATEGCRY LAREL CNOE FREQ {PCT) (2CT) (PCT)

0. 1 1.2 1.0 Y .0

18 5 €.0 5.C 6.0

2 21 2059 21.0 27.9

3. 41 41.0 41.0 62,0

4s 18 1€.90 12.0 86.0

5. 14 14.0 14.0 120.0

TCTAL 120 107.92 100.0

MEAN 3.129 S10 EPR 0.111 MEDT A" 2,041

MODF ) 3.009 STC DEV 1.112 VAPIANCE 1.239

KUPTNSITS -2.191 SKEWHESS -0.717 RANGE 5.000
VINIMULM 0.2 MAYIVUY 5.0C2
VAL ID CASES 10) MISSING CASTS 0

STATISTICAL 7ACKASE F£77% THE SOACIAL/SCTENCAS

FILE NCNAME (CREATICN CATE = 13/05783)

pARTK
RELATIVE  ADJUSTED cu
A3SQLYTE FRED FREQ FREQ
CATEGCRY LA2EL C3OE-_ FREQ (207 (2¢cT) (PCT)
3, 15 15.9 15.0 15.2
&\, 1 6. 35.9 51,9
B 4 43 43.9 43.9 59.0
5 1 1.9 1.0 100.9
TATAL 170 100.9 100.9
MEAN 3.35) 517 ERR 3974 vEILAN T 3.472
unIE 4.00) 577 7=V 2.744 VAR TANCE 0.553
- KURTOSTS ~1,755 SKEWNESS -0.521 RAVGE 1.000
MINIMUH 2.009 wAX MUY 5.000

VALIZ CASES 129 v AISSING CASES c
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24 JUTILT UNITTAOE
4XITE CASES (11F7.2) PARTA TQ 2ARTK

STATISTICAL PACKASE FOR THE SJC1AL SCIENCES

100 CASES WRITTSN ON LCSTCAL UNIT 4 9
€ (UMWNELGHTED)) CASES sERE 2F')29€7) DUE TL YISSING VALYES

ELAPSEC TIME REQUIRED.. 5.02 SECCNDS

FINIGH

MCRAL END N7 gra,
36 CONT20L CAPDS WIRE PROCISSED.
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POS OENRTRAY IV 340MN-F0-473 3-9 YRIMPGY
otal YTURLT PUECIRICN X{200,21F,Y (2097 %%
cng 2 - . SEAN L 1Y g 1T

S ok 1) CADYAT(213)

ceY4 N By Talpn

0095 I8 REATE T BT T s det 1%
Coce 21 P S¥ET (11T 7,20

0os? J* G T=E1a10

a3ca DT 40 J=1l4N

2009 42 Y{J)=A(),1)

0310 CALL <UPTOLY, XK, )

£311 50 WPITE(3,50) XK

N2 5 FORYAT(L1NX,F15.5)

00173 STIP

014 N9
DTS FORTPAN IV 360N-F1 =475 3-9 KURTO
3001 SURRAUTINE KUP T (Y, XKyN)
0rn2 DOUBLE PRECISICNZAY (2001 3XK 9 X 43 XAy XDy X 3 XDy A, R
cecs XA=0

arC4 X=0

cees r=0

NN0e X)=0

N7 DN 10 1=1,N

£ocs XA=XA+Y(1)

00C3 XB=X3+Y(I)%Y(T)

001¢C XC=XC4+Y(])%#%2

0011 ‘10 XD=XD+Y(I)%%4

0012 XM=XA/N

0013 X1=XD/N

N014 X2=4 . %#XMEXC /N

0015  XB=h AXMERIEXR/N

00re X4=b  EXMEETEXA/N

2017 A=X1-X2+X3-X4+X1xk4

co18 A B=(XB=N*XM*%2)/(N-1)

0015 XK=A/(B%8)=-3,

0020 RETURN

Coz1 END
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